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Give a formal definition of the limit lim f(x) = L.

O lim f(x) =
O );u:: f(x) =
O Tim ) =
O IZm: feo) =

L if, for any € > 0, there exists an M > 0 such that | f(x) — L| > € whenever x < M
L if, for any € > 0, there exists an M > 0 such that | f(x) — L| < € whenever x < M
L if, for any € > 0, there exists an M > 0 such that | f(x) — L| < € whenever x > M

L if, for any € > 0, there exists an M > 0 such that | f(x) — L| > e whenever x > M
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If |x —¢| < é,then |f(x) — L| <e.
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Consider the given graph of the fi
Lete = 3, L = 5, and € = 0.5. Select all values of é such that the given statement holds.

If0 < |x—¢| <é,then|f(x)— L| <e. \
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If | x| < é,then | f(x) = L| < €.
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Consider the function f(x) = 2x + 10 and the formal definition of the limit, lim f(x) = 2.
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Which graph represents ]im4f(x) = 2foré = 0.01? — 0.0 | < X -{—b\ < 0 ,Q)
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